=
H
Xt

FEHALTRKEFEESTIRLREERRE

T+t HEAEREZEEB



P

ol B 38
R 2948 H 1 H

FoE W OE O TR R B

FriEaZE B R % in K

FLmEEEE H iz

[m

FR28EET TR AL T KEFEES AN RLREFERRIZONT

i1 5 IS FR D B D RAVIZ B3 DB 22 5 B LD BUEIZ LY, AT ST Eki284F

P

FHHALTKEFEESRELRICOWVWTEELZFEMLI-O T, FOFEIZONTKRDOER
VEREEZEHLET,



1.8 F o # 1
YRE29FETH13HNGTH3IHET
2.8 E D FH -
BERBEFROBFEEIZHT-> T, FiELLEFMEINTZEERE R EE L NEORIE
JLRE LA IR T LT BN E ISR SN BEINC O T, BRI B O %5

%R L7,

3. BEDORE
(1) IR E R,
FE SN E LR R LR O ORE D L2 5 F A T L B I P i

EZERESN T Db O LD T2, PRRTHEE [FIRR, #EE ek kiEz T El->TkY, 4% L5

S, R E ICHEOONDIIHLET D,

() P3P Rl2 74 B il
K284 B HERR2TEE o e b e

% % %

BRI R - — 20.0(20.0)

(2) RIEYWHELE S HHIE
FRCIR R4 ~EFHITR L,

(3) YRR N EHT, IRDEIBVTH D,




BEEAREE (GEEHA)

AELEDEST (Wi pamerae 1004 ] (D TFAE)
|MEHEEEE 20. 0%
(B : FM)
A C H28 H27
65,306 — 557,010 -491, 704
= x 100 = — [ - ]
455,019 — 0 455,019
® @
BEAREE = EE2 DT RBRE A+B—C (—D) D: A+B—C>0ThHNITEA, HL,
EXOHRE (BXINEDZE-ZEIFNENE) ZOBESIZBNT, A4B—C—D<O0¢
TAEEZFA+B—C—D=0¢9 %,
BEDAEEE
A FHARK — EROLEZ — BREALSE — 2KRE — 2KRoNs — PFIERELES H28( 65,306 )  H27( 38,474 )
340,711 — 272,090 — 0 — 0 — 3315 — 0 = 652306
B: EAMABNIERES 0 H28( 0 ) H21l 0o )
C: RENEEDE—IERINE—1ZRE+8E5 148 H28( 557,010 )  H27( 460, 886 )
548,892 — 0 — 0 + 8118 = 557,010
D : fEHETTREE ST 258 0 H28( 0 ) H27( 0O )
BEEOHRE
D : BEINFOEE 455,019 H28( 455,019 )  H27( 503,597 )
Q@ ZEIEWNENEE 0 H28( 0 ) H27( 0 )

*FUHAIREEE RS . T/AKE. WTHLLEOEXOMEL, FXMBRO—EHME. BEMICEEFENELDIFHAHILERRICONTIE,
RELERICETOLEOREREDRIC, FHRBHEARRATNDS BHAREESTRE] Z2EETRENERIT LD,




